GNCZ . GUCZ GHNCE GHUCE-&EX

CH7,; ZERBEFY ¥ —H#4

GHNCE., GHUCEMOTAIEGNCE, GUCREYRA—TTYT

GUC4%E., GHuUC4® GUCSHXE, GHUCHBHX®E
GNC %, GHNC # GUC6%E., GHUCeZ
(CH — BRI+ 4EKFR)
™W T™W
GW CW——— GW T CW- N
-GN GL T CL—gg CNF -GN GL i Cl—gg—CN HH
P AO ~—CH—]
GP T—AS:‘-CP«% GP——AP—{CPE ‘ Sk
CB " B
F ré @) 1 - F _¢ ® il -_i'*—|
GB GO fg ———||| cK é GO L cK
- & I t & | 41} ¢
&:o GK = 4 8} GK | V'l ® | 81
1 1
= (&) (&)
(DDL @ [—_i Il { 8{ l [—_| & I { < g:%z
[ I\ L] . 5 fer A L | . g T
w d @ w | & 9
(3] (&)
oo L Ll do] I Wfﬂ A d
ol ol :
NC | o % (o ] 3 &ld
NH GR—- CR NH GR— CR
BT D mm
x5 5 10—1R 10—2R 10—3L 10—4L
I
B O GP | GO | TP | TO mC‘DAHjDAADE)\DHﬁ
A E = 5
GNC3 | 204 | 65 | 264 | 304 — - W
200 | 86 | 294 | 344 ‘ J
e BMFEDONo. A HIEET S\,
GUCBX | 390 | 100 | 250 | 320 B AR - HAOsSE AN BHR
GUCE | 413 | 100 | 250 | 320 FELUBIICIEIBEIAAIILR THMTE T,
Be GD |GDO*— CD |CDO¥—
B A K CH| C E A |HH| CE | GL | GN | GK CL | CN | CK GW | CW | TW
9 (h6) | GBXGT (h6) | CBXCT
GNCO 50| 97 | 60| 62 | 282|201 | 122 | 216 | 50 | 45 | 24 8x4 194 | 60 | 55| 28| 8x4 266 | 254 | 520
GNCX 73| 118 70 74 | 344 | 246 | 144 | 222 50 45 | 24 8x4 225 | 60| 55| 32| 10x5 272 | 285 | 557
GNC1 112 | 130 80 84 | 384 266 | 164 | 270 80 75 | 35 | 10x5 252 80 75 38 | 10x5 350 | 332 | 682
GNC2 270| 155 | 95 | 100 | 460 | 316 | 195 | 320 | 80 | 75 | 38 | 10x5 310 | 110 | 100 | 45 | 14x5.5 | 400 | 420 | 820
GNC3 310 | 180 | 124 | 128 | 574 | 380 | 2562 | 440 | 110 | 100 | 50 | 14x5.5 | 408 | 130 | 120 | 60 | 18x7 550 | 538 | 1088
GUC4. | 560| 217 | 162 | 158 | 728| 457 | 320 | 490 | 110 | 100 | 50 | 12x5 480 | 140 | 130 | 75 | 20x7.5 | 600 | 620 | 1220
GUCHX | 1040 | 268 | 203 | 200 | 906 | 568 | 403 | 690 | 140 | 130 | 60 | 15x5 585 | 170 | 160 | 85 | 24x8 830 | 755 | 1585
GUC6 |1500| 300 | 220 | 220 | 1010 | 640 | 440 | 728 | 140 | 130 | 60 | 15%5 750 | 210 | 200 | 110 | 28x10 | 868 | 960 | 1828
o A OE OB % & 1+ 3] % Shimta L& HE
-
GR|CR|DH|NH|DC|NC| H S T | AP| AO| CP | OP | CO | HP | HO GD ¥ CD 2
GNCO | 182 | 182 60 | 35 7 24 12 16 66 | 140 | 170 | 84 | — | 52 | 310| 340| M8x16 | M10x20 [ 1.8
GNCX | 146 | 207 90 | 45 10 | 26 14 16 80 | 140 | 174 | 105 | — | 45 | 380| 414| M8x16 | M12x24 | 3.4
GNC1 165 | 235 90 | 45 10 | 26 14 18 90 | 150 | 185 | 130 | — | 60 | 420 | 455 M12x24 | M12x24 [ 4.0
GNC2 | 206 | 290 | 130 | 55 14 | 40 18 20 | 104 | 200 | 240 | 160 | — | 60 | 510 | 550 | M12x24 | M16%x32 | 7.7
GNC3 | 340 | 377 | 130 | 55 14 40 20 27 | 116 | 240 | 280 | 218 | — | 65 | 628 | 668 | M16x32 | M16x32 | 12
GUC4 | 350 | 455 | 160 | 55 14 40 | 24 | 30 83 | 350 | 412 | 205 | — | 100 | 778 | 840 | M16x32 | M16x32 | 21
GUCSBX | 340 | 555 | 160 | 55 18 40 | 28 36 | 105 | 410 | 490 | 205 90 | 180 | 980 | 1058 | M16x32 | M20x40 | 29
GUC6 | 400 | 710 | 160 | 55 18 40 | 35 44 | 140 | 440 | 540 | 330 | 100 | 200 | 1114 | 1194 | M16x32 | M20x40 | 47

CE) BYFRERHEER) FTHATTETIL,

25

MENERERA L 4FEE LY 29,



